D ACOUSTICS

Micro-C / Micro Kit




Technical specification :
Frequency range

Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
High frequency driver
Low frequency drivers

Cabinet:

Dimensions (H x W x D)

Net weight (pair):

Cabinet only
Full assembly

Special Features:

Manual | Micro-C /Micro Kit

Micro-C

68 - 28000 Hz+/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf

Bass reflex

49 Hz

SB19ST-C000-4
4in SB12CACS25-4

15mm MDF
262 x 132 x 170 mm
10.3x5.2x6.7 inch

43kg/9.48 Ib
7.8kg/17.21b

- High performance compact design

- Optimized drivers

- Simple high quality cross-over network

- Front firing integrated port

- Versatile placement

- Solid single wiring binding posts

@
S % ) >,

Micro

70-28000 Hz +/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf
Bass reflex

49 Hz

SB19ST-C000-4
4" SB12PAC25-4

15mm MDF
260 x 130 x 170 mm
10.2x5.1 x6.7 inch

4.2kg/9.26 b
7.4kg/ 1632 1b



o) Manual | Micro-C / Micro Kit

Frequency response (Micro-C)

100 g 80
95 73
90 67
85 60
80 53
75 a7
70 40
@
°
65 33
60 27
55 20
50 13
45 7
40 = - - s . = = = 0
20 50 100 200 500 1k 2k Sk 10k 20kHz

wyo

Frequency response (Micro)

55 100
50 67
45 33
4 00
20 50 100 200 500 * % sk 10k 20kHz

Response Curve :
~——— (Blue) : on axis ——— ( Green ) : 15° off-axis ~——— (Red ) : 30° off-axis

Measured on-axis, 15° and 30° off-axis at 1 m in an ordinary room. Lower frequency dips and peaks are caused by room modes/reflections.




L3NIgV0 4oL 04 a35N WM3IA INOYHH.

< L3NIGVO 3HL 40 v 1308 ety
o 7100M 403 0380 v-¥ NOILD3S i
] SOdHALD WONIdWYA
S JMIIANOYE, oazx0s3zis o
Q 206 AL NONOVA
& 8 V3LV ONIdAYA
: DI R .
= % £
E \
= © \
s B \
e W .
N\ S
. R
\ 3
Sl 20LD-T I \ £P-v
S -~
1 & S M 2@ aod
n " R S % a
3 | : M/u < 8
- _l ’_ 13NIgY0 moﬁw“wwwm e
3¢} 0¢ 1§ oix001:3ZIS
206 34AL NOYOYQ /
¥ TVRSZLYWN ONIdVQ 0L}

D-0DI / (W ul 9zIs) buimelp [ea1ueyds|y



< 6'801
0% &
= 5
e — | :
NS T N || &
| S e Q
N N | o
P! [~
L I
o ] G
LT
0 _ ﬂ/ m m W Gy m
N . g
28 _ = Tﬁ 2
& Ll I 2
i R | Sl L
...... S e A
! J [v\_.l & ,” o B
7 7 ST | A k- e 9
e
.7)
Eom‘ < 0LL - oclL
&
e
&
=
)
o
&
=
E]
5
= ODIN / (Wi Ul 321s) Buimesp [eatueydsy




Manual | Micro-C /Micro Kit

EXPLODED VIEW

AN
Y
AN

ISOMETRIC VIEW (MICRO-C)

NO. PART LIST qary.
1 SB19ST-C000-4 (Sold separately) 1
2 |4in SB12PAC25-4 Or 4in SB12CACS25-4 1

(Sold separately)

Binding Post (-) (Black) 1
4 | Binding Post (+) (Red) 1
5 | Wood Screw 3%2x20mm (Not included) 4
6 | Wood Screw 4x20mm (Not included) 4
7 |Name Plate 1
8 | Cross Over (Sold separately) 1
9 | Damping Material (See cut pattern) 1




=
<
o
o
2
=
-
&
o
o
2
>
©
=3
=
©
=

174

ﬁ orl

oGl

0

8¢

g

G

€

(ww ul 9zIS) uidled In) jeudlely buidweq

00}

08



Manual | Micro-C /Micro Kit

Damping material position (size in mm)

L ‘. "’U‘Il' i
FOLDED

DAMPING MATERIAL A
DACRON TYPE 90z
SIZE:100X140

QTY:1PCS

USED FOR TOP CABINET

- DAMPING MATERIAL B

DACRON TYPE 90z
SIZE:50X280
QTY:1PCS

USED FOR MIDDLE
OF THE CABINET

——— DAMPING MATERIAL C
DACRON TYPE 90z
SIZE:100X215
QTY:1PCS
USED FORBOTTOM/BACK
OF THE CABINET



=
<
o
o
=
=
~
vk
o
o
2
=
©
5
=]
©
>

¥-6TSOVOTldS ¥ >oov\m:w @

10 4-SZOVATIES o F_
— EEN [/HW890

NA

ww/, 0/HUT 0 (OVD) A00y/Ang't

-0000-LS614dS (VD) A0OP/NT'S 17C  (OVd) A00Y/ANE €

oeg -
(OVd) A00Y/AN01 [10) AOT/WYOLT o8] z
¥ MO[PA = E ¢ : E \/>~\~z~ N
ML 0 NI

Jijewayds 19A0Ss01)




9 Manual | Micro-C /Micro Kit \

Assembling instruction

Part list (each cabinet):

- High frequency driver SB19ST-C000-4 (sold separately) ................... - 1pc
- Low frequency drivers 4" SB12PAC25-4 or 4" SB12CACS25-4 (sold separately) 1 pc
- Micro kit crossover (sold separately)..................o R 1 pc
- Wood Screw 3.5 x 20 mm for tweeter (not included) i A pCs
- Wood Screw 4 x 20 mm for woofer (not included)................. _ . 4 pcs
- Wood Screw 4 x 16 mm for crossover (from kit crossover)........................ 4 pcs
- Binding post terminal ... S S —— . 1 pair
- Damping ... s S S N—— T
= Narie plile sommmnummmmnsmsmmmummesammmpmesmmmeusmwsnsams | P
Tools needed:

- No. 2 Philips screwdriver (for drivers and crossover screw)
- 11 mm hex socket (for tightening binding post nut)
- Soldering iron + tin (for soldering input wire to terminal)
- Multipurpose glue

(for attaching the damping and sealing the terminal hole)



Manual | Micro-C/ Micro Kit 10

1. Take out the cabinet from the packaging
and take out the raw damping material
from the cabinet

2. Unscrew the binding post nut then
attach both binding post terminals on
the backside of the cabinet

3. Screw the nut back to the binding
post terminal




12 Manual | Micro-C /Micro Kit

4. Tighten the nut using 11 mm hex
socket head. Put some glue around
the nut to seal the cabinet.

5. Put the crossover on the port panel
inside the cabinet

6. Screw the four corners of the
crossover to the panel




Manual | Micro-C/ Micro Kit 13

7. Solder both the crossover input
cables to the binding post terminal

8. Cut the raw damping material to
3 pcs of damping according to
the cutting diagram

9. Put the each damping part into
the cabinet according to damping
position diagram. Ad a bit of glue if
needed to hold the damping




10. Attach the tweeter out cables from
the crossover to the tweeter terminals,
then put the tweeter into the tweeter
hole on the cabinet, align the plate
screw hole to the cabinet screw hole

11. Attach the woofer out cables from
the crossover to the woofer terminals,
then put the woofer into the woofer
hole on the cabinet, align the chassis
screw hole to the cabinet screw hole

12. Screw both tweeter and woofer
to the cabinet




Find Us On

@ Kl

www.sbacoustics.com



Mechanical drawing (size in mm) / Micro-C

100

"FRONT VIEW"

- .
PCD@ 112
4-93
o
W 2
$ &
t
2 N\ &
Jl_
s 4R3

15
{
o

170 DAMPING MATERIAL A
DACRON TYPE 90z
SIZE:100X140

51 30, _ 5

QTY:1PCS i
USED FOR TOP CABINET

$88.2

130

)

P123.2

SN N ——
PR\ R — ——

o SECTION A-A

QTY:APCS SCALE1:4

DAMPING MATERIAL B

@ —
2-9107 15

DACRON TYPE 90z
SIZE:50X280
QTY:1PCS

USED FOR MIDDLE
OF THE CABINET

"BACK VIEW"

RN






801

130

100
108.9

Mechanical drawing (size in mm) / Micro

———

4
‘738125

092

o
o
e




+ Red

- Black

Crossover Schematic

R1

2.70hm/10W C

3.3uF/400V (PAC)
4.3uF/400V (CAC)

C2

10uF/400V (PAC)
[1 8.2uF/400V (CAC)

0.1mH/0.7mm

W

Yellow +

Black -
SB19ST-C000-4

L2
0.68mH/1.2mm

—=C3

WF
Red +

Black -

4” SB12PAC25-4 or
4” SB12CACS25-4

'—1_—|6.8uF/400V




Technical specification :
Frequency range

Sensitivity (2.83V/ 1m)
Nominal impedance
Max SPL

Recommended amplifier
Cross-over frequency
Speaker type

Enclosure type

Port tuning frequency

Drive Units:
High frequency driver
Low frequency drivers

Cabinet:

Dimensions (H x W x D)

Net weight (pair):

Cabinet only
Full assembly

Special Features:

Manual | Micro-C /Micro Kit

Micro-C

68 - 28000 Hz+/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf

Bass reflex

49 Hz

SB19ST-C000-4
4in SB12CACS25-4

15mm MDF
262 x 132 x 170 mm
10.3x5.2x6.7 inch

43kg/9.48 Ib
7.8kg/17.21b

- High performance compact design

- Optimized drivers

- Simple high quality cross-over network

- Front firing integrated port

- Versatile placement

- Solid single wiring binding posts

@
S % ) >,

Micro

70-28000 Hz +/-3 dB
84.5 dB

40

100 dB

25-100 W

4000 Hz

2-way Bookshelf
Bass reflex

49 Hz

SB19ST-C000-4
4" SB12PAC25-4

15mm MDF
260 x 130 x 170 mm
10.2x5.1 x6.7 inch

4.2kg/9.26 b
7.4kg/ 1632 1b



o) Manual | Micro-C / Micro Kit

Frequency response (Micro-C)

100 80
95 g 73
90 67
85 60
80 53
75 a7
%70 40 g
65 33
60 27
55 20
50 13
45 7
40 = - - s . = = = 0
20 50 100 200 500 1k 2k Sk 10k 20kHz

Frequency response (Micro)

55 100
50 67
45 33
4 00
20 50 100 200 500 * % sk 10k 20kHz

Response Curve :
~——— (Blue) : on axis ——— ( Green ) : 15° off-axis ~——— (Red ) : 30° off-axis

Measured on-axis, 15° and 30° off-axis at 1 m in an ordinary room. Lower frequency dips and peaks are caused by room modes/reflections.



